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Example Candidate Responses — Paper 4

Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge AS & A Level Law 9084, and to
show how different levels of candidates’ performance (high, middle and low) relate to the subject’s curriculum and
assessment objectives.

In this booklet candidate responses have been chosen from June 2018 scripts to exemplify a range of answers.

For each question, the response is annotated with a clear explanation of where and why marks were awarded or
omitted. This is followed by examiner comments on how the answer could have been improved. In this way, it is
possible for you to understand what candidates have done to gain their marks and what they could do to improve their
answers. There is also a list of common mistakes candidates made in their answers for each question.

This document provides illustrative examples of candidate work with examiner commentary. These help teachers
to assess the standard required to achieve marks beyond the guidance of the mark scheme. Therefore, in some
circumstances, such as where exact answers are required, there will not be much comment.

The questions and mark schemes used here are available to download from the School Support Hub. These files are:

June 2018 Question Paper 43

June 2018 Paper 43 Mark Scheme

Past exam resources and other teacher support materials are available on the School Support Hub:

www.cambridgeinternational.org/support

Cambridge International AS & A Level Law 9084 4
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Example Candidate Responses — Paper 4

How to use this booklet

This booklet goes through the paper one question at a time, showing you the high-, middle- and low-level response for
each question. The candidate answers are set in a table. In the left-hand column are the candidate answers, and in
the right-hand column are the examiner comments.

Example Candidate Response - high Examiner comments

Question  Part . 6 A good start. A brief definition of
- - ] ) misrepresentation, which is clear
Q1 ‘ MWWHWQQM’(%‘V\W \§ W2 (A (Avﬁ‘f\kf ﬁﬁ()ﬂ/\/\ (this is often better than a very
| of ot ndle 0 gy To_onfoy frks_4_coint one). This s ollowed by the main.
ThQ)[Q/ M. 3 r&()uu{m@mu .:B)__&Mb’\/\\._\(\,ﬂtf_ﬂ__%m,&w elements (_)f misrepresentation
I8 peHeralns o nisTeppienoniva. TS MowdeS | | wasing tme on unmecsseary
Hnok Mg aust ko R0 g SRodewior B sk matters.
5 0 Sukomlut o faok, and ho Qprement Wyl
hoNe ,[{\%@ e Py 30 ondel, - W& GIWAB: [ Examiner comments are N
N\ alongside the answers. These |-
Answers are by real candidates in exam conditions. explain where and why marks
These show you the types of answers for each level. were awarded. This helps you
Discuss and analyse the answers with your learners in to interpret the standard of
the classroom to improve their skills. Cambridge exams so you can
help your learners to refine
their exam technique.

o /

How the candidate could have improved their answer

This was an excellent response, which used a wide range of illustrative detail and sound definitions. Three maxims
were identified and explained, each remedy was explained with a relevant case, including the more recent Anton Pillar
and Mareva injunctions.

This section explains how the candidate could
have improved each answer. This helps you to
interpret the standard of Cambridge exams and
helps your learners to refine their exam technique.

Common mistakes candidates made in this question

Candidates who fared less well in this response often made the mistake of offering responses based on custom and
the Anglo Saxon system of law, rather than concentrating on the creation of Common Law and the way in which Equity
was formed to solve problems. Poorer responses also contained far too few example citations for the maxims and
particularly the remedies. Concepts such as trust, mortgages and deserted wives’ equity could also have been used.

Often candidates were not awarded Lists the common mistakes candidates made
marks because they misread or in answering each question. This will help your
misinterpreted the questions. learners to avoid these mistakes and give them

the best chance of achieving the available marks.
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Example Candidate Responses — Paper 4

Question 1

Example Candidate Response — high Examiner comments

Question  Part

Whtktr ov ot M detondant ik yvoachsd
i iy - will dlepevid o etiaes, me—pn ML pooliied
otled o gquection . 1 mne  conduel of dne  plotoindoaad
B _an_ golnaany  opill, et e will ke puolged Loseod
oM M wosonside man Ganoond . loweger, o Ha
Aotemd oint s _pleCivy W Al v professiont
stovdlond wed will e e opvolond oF p professioner)

& vemgovooll gt u g _gumdical pvustades
W ted  ar ain objedive tesd o pacest

W ey ov w0t Mt defppdants condlues 8

whor o weatoialle v wmau  would plo ov

wolet bk olo. A othned  w e e of Jalll v
bpotld nd: Qoewd;  Club,  a ypptonable pmon U

aun _pume Wb, an owtiwm/\j MO, A vphto A ¢

woh,_and_ o WA an dve (AP Quewilels . ©— | © This is an accurate explanation
of the standard of care. The

it e elnd  plonent  ob  Lyzoch meaning of ‘objective test’ and
bo _combider s phelaer  ov ol Hw  celenslaitt ‘reasonable man’ could be
wos__folien pelow e gmudard - tevedore. wn oulen L‘%"tt'.‘er qer‘]’?"’p%q? pt‘?rhapsdby

) istinguishing objective an

do LR HAM ,Mu ave dngr fucton b ppuicter, subjective tests and reasonable
wamely . pposhitadt ot utk, praedreality ok precantiou, care and absolute care.
wiihy o8 Huw  derevdoint 't pondued g cknde ot
mowledge -

P Mne—prplli—to—pbess  pe g0 23400 19
L QUETion  pizgve, PRrr—faetert wpgpibac o i
i3 o ittal Llemlnt it can pe  fuviar
b divided ko preoter el of o aunel pslke
0 grearer v -

whive b g gokpolant's wongud  pyses a
oveodkty et ek of Wavna g AL plonpamd, Ha
defondomt Wil Leld  fialole  m_peglglua. thi oy

Cambridge International AS & A Level Law 9084 6



Example Candidate Responses — Paper 4

Example Candidate Response - high, continued Examiner comments

Question  Part

b e o d gate oF Wolevt v Lo . Holwéver

& e polomgomb  Spild A vestaieet  fackov, he
will nod L2 neld b, st i miller v {acktpn,

e The facts of Bolton v Stone
or Miller v Jackson are relevant

- ; here. A brief outline of the facts of
e debondont _wod  liolple m_Hue cote ¢ either case would strengthen the

thpmy Pavit v Shpney  peand? Mt oekh defendaaty | explanation of magnitude of risk.
udney bzt had  cquied o itk of guater wnarm
b W o d o A 8 beeode o i coue,
W plaimant oAty hoe  ove -0 with o Qmod
Wk, aund_sm e debundonnt nodl pet dond
gy do evAwve ittt M plaimant ologs
pot  wie  hic Qovd  epelrnt g givem Haat Mt
WOUCg__eondihon  pf e p  claimants  pla i
of_work (wed odavdliuias.  Ahevedove, At ougenortt
euditon oo cqueed o psk of  gpeotery haron

Jo fe  daimant ps e wod pnl-eyl blivadl -

4 pest fdor w8 wvackicality ot
Lo .ty deveent  wrlount Wbt dnt plebendant
pst  amve dovd  towt TR pLactical pretautivn
Jo odnve  Hmemt It codedby o e clarmand -
loweher, 11 UM mse of  Lakiper v 42 AT, —HA&

WLAMOW Mok I dapan®t e oupd dor e The facts of Latimgr vAEC
(;m —— would be useful here in terms

! of supporting the explanation
effectively.

detorpmivd

Bl nert fader b ettty preach pf
g P uhlidy ot g otdendonit e goneudd - Tha
world e wheluy  pv pbt  Hpews s sny
food _m _whant sae bkt WAt glpiwg . Ahu tas
be seen i e emm cace of  Wadl v geriporekt Wit
wave S plekendevr ot o ol fubh
betat o |ns —gp  goed cawo’tﬂ”-a °This explanation and use of
case law could be improved with

- - | reference to the facts of this case.
A very brief outline would suffice.

7 Cambridge International AS & A Level Law 9084



Example Candidate Responses — Paper 4

Example Candidate Response - high, continued

Examiner comments

Question  Part

Lstly, W gode b lewleotg L. dEm g4
ke o tnowlpglge of MHre clekendan]  murt pp
o Mo bt el iy gy wmpla ned _obgs
by doimantt . thu an

Roe v Minhy of Hialth

be (epn i Hal (oML OF

Yowawor, & wu debomdont w t=pEt  astessed
pored o M Savoldud pf g patesionnt, oltevent
sot ot Moy Wil apply. the et gdmylishied 1y

bolanr v tiewn HUSP]'}'M' MAVGY LWt oyt el
will nppY -

e beer e B 4ot muoles Haod

A_ybokieal peson it gondntt wonlel have 4o lse  cuppoited
avgl w}vuel POR_ by

Qoup ot  Weolial gesest
O A pacldtronest  within e profeision

A et was Mvder wudified an BeliMov v Lk of

bwbney . whave Bl Ho gup oF et yeadnable,
vedporkadste et pontiid

b chal  logreal

forool g Houwglitl K able
analgst v My pendugiom -

Wy FuE Wonlver, wao  pedvily  oificil ek
by _wany oupdeputs al - Allywed plocku 4o Q eThere is both explanation and
] oy ‘qod’. e Aot qiau bt pac oup pouked critical analysis here in relation to
U Odawery v The Poyal  Bermtom & MWdﬂlZm the standard of care and medical
u;mml, uf wid  oeadvsed i phuster v pihar | professionals.
- tben  7E v

Heenove _wos followe o by
MO W]V LWLV, peve ey AL

{prent  towvt ol gondymed  Haed  odockous
owe 2 oyt diglae  mbovmntion and  ajl
covifreant  ped 4o pahomis .
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Example Candidate Responses — Paper 4

Example Candidate Response - high, continued Examiner comments

Question ~ Part

» —=
Howenov, wa  pordpin (ased, b 8wt uMiuy;

iy ' ocdow: olo wot dlitclote vitle. W could b2
becowss Ay oy ave fogethen v il

Lo WkUown jo et wWhedaey HAL UL E fuowlof
be. o gouidicant one to das papre1+ -

L Moo vddtivn, Hwe dpegore o analds £
hielth i ueqligoine:  pele ot o (A9

A Hcher el do e prevent fped §ate of @ © There is some critical analysis
liHgotion - 1Ny w  beeot W viHrou+  HaliL here but it is superficial and not
febonl, Wivd  wonel Yl pua  maglete piniinn AFE , fully developed and therefore the
daim 40 an M olttamnl nate et of { | answer is not fully rounded as the

conclusion which emerges is not
fully supported by the arguments
out forward.

l'people : - Howtwlr, sire  gleienss  of- e §ligen ce
£ ewsily Wndevtvool by ayman  and
aeveford , oyt be nnlpiv o ke Hlim .

This section needs further
development in terms of clearly
identifying why the current rules
act as a limiting factor and prevent
a floodgate of litigation.

Total mark awarded =
18 out of 25

9 Cambridge International AS & A Level Law 9084



Example Candidate Responses — Paper 4

How the candidate could have improved their answer

« The explanation of breach of duty was detailed and generally accurate. The candidate identified the standard of
care as that of reasonable care. In explaining the meaning of reasonable care the candidate could have explored
the concept of an objective standard as distinct from a subjective standard. Distinguishing between reasonable
care and absolute care would also strengthen the explanation.

* The explanation of the factors which must be considered could have been improved by more effective use of case
law. Where the candidate identified the issue of the practicality of precautions and referred to the case Latimer v
AEC, it would have been more effective if the candidate had briefly explained the key facts in order to illustrate the
point made regarding the practicality of precautions.

» The critical analysis could have been more developed, which in turn would have produced a more convincing
conclusion. The candidate identified some key issues but these points were stated rather than discussed. The
reference to the ‘floodgates’ could have been linked to some of the aspects of the standard of care and a more
convincing case made for the argument that the current rules prevent ‘floodgates of litigation’. It could be argued,
for example, that each of the factors considered by the court ensures that the standard is that of reasonable care
rather than absolute care and therefore limits the number of successful claims. It could also have been argued that
the concept of a reasonable person is vague and therefore creates uncertainty and injustice.

Cambridge International AS & A Level Law 9084 10



Example Candidate Responses — Paper 4

Example Candidate Response — middle Examiner comments

Question  Part

A [|Tho Tovt of Neghoenmce 1° conerimed ol
compencabing thote ohe are affeehed

lv) another person’c  enelell ack. of Uolgrumee
hoe _ beén odevUloped #Havovah Fap deoadrt
asol _ thert have been yowtouf wayf 4o
fARANEYy g dnetang 3 potyy  of Coct
aro R preock bf  Adty, b soral W el
ot phOne. B nQqUeacnle.

M e care bf  Hovoghve v. JtAVeARW Clagn)|
M wWhen e  clementt v bdendityy e '
oetptence o oty ot cavt wat  Letal Usfhed.
Hord  atetn  had  getallLe@hed  fhotd . ghere
'A'Nuﬂ- o reoronQriie #oha/{zq_abm‘j,,q i
canting  infory  tv fhe pertom,  aq4

‘:‘/\L oled  adoled thra+ Ipybn.m‘\q/m €

HES an  fmpovtomt elewent fo ature
HQt 00V actione  wond _ terfire o
dnjore ooy ‘hedghiboor”.  Lood  Atean

Ao mot meon  “nedahlouvr: o (Merey
term vt ok pprveone o ioliste —iyex
Mogetracttm,  Meor  vou.  TW&  wdag

Colted bt Nedqpleur  Phnapr

|The, tetohbour pineyle however develtoped
(D +he  Two-Lroged +ert  olfaluehed ﬂ_ 0 This level of detail and analysis
pauc v pecion pevvudle  eovaeu ] U43e) regarding duty of care was not
wlhore (ard  wilkerforce.  hod 0N 0qestad required. The question referred
-(-DLOL% the  oddettena  teol ( . 2;\1‘.&” specifically to breach of duty

‘ _‘ . , T therefore a brief overview of the
thee oty of epct it the iclo® oy other elements of negligence
of potcy AN Aerdbidvi. -—griielr—bofocat would have been sufficient.

;7 4‘;94|(9% EF Hap ;E» =] ‘393 ‘ 'l . tele
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Example Candidate Responses — Paper 4

Example Candidate Response — middle, continued Examiner comments

Question  Part

B e = e A = L Fusebo

TN meane  pwhen  the Notqulpvy PWACLEL
__oprlied, the  coud dtep ¢ fo enniT
Hhere (v ne 4‘95\»‘ Yy 4o R¥Cly e {he  pest.

Tutt  oftracted wany  acticioms  ae

Ltheme. waold be po Ooby of a pdlicy
extloaes  the  ogplicottov: of the HO
,ﬁar,?ﬁ@, e ol Koy neguigence. ek 1
alco __eveoird eeved  whhiv  the developyvend .
o low. ;

The pateiod ¥etriat 8cConed  whom  the
cart. of  WOVphgy v grendwoed  pve] mied
CovniN CAAO)  hod elpacated ety prn
L Anne, by Obing  mo prwcitice  Glateonitnd
[ACE TWo. _ envrent et o Galted
e  dgulor compoédhye qert, twiEwn ‘
gitabaguod i Coparp v rebwan (A4 @) @ Detailed analysis of duty of
Tho _;é’éé_ Q/@Tabu%|9_d 1ot Hhere care was not required in this
bt At darte glowendt v apkelueey, | | duestion.

ety Ffactor M fosebraa Oy Of Qo
Ao frt &t reasdonolie  foreee el i7y,-
T £ oA M Phe  Oobt P
Hoke—V—fteetitech,—Lowelon  fialey v London
Eleetn ety poord (465D,  The Recon
factor tf  there woet be proxmiBiyn o
ot DAL sbidtrved  pa WNotéon v
nHreh BoRing poard. Lactlvy, 1t woet
bo folr  juot ond reatsbable. e
Care & ot eraa  We Fadant v
Toyprrde  4poalth  Manating

Cambridge International AS & A Level Law 9084 12



Example Candidate Responses — Paper 4

Example Candidate Response — middle, continued Examiner comments

Question  Part

Brench  of ity 20tablitlied {l/\v-ouo_/\‘
Hho. reavonable wwan et ctandard.

“€eacondile wian' 0 gepined  m lee eThe candidate begins to

V. Brvwklaaol  Racing  clwb s ... Q explain the standard of care here
(0060 nakle  Mad e am_o_mdngmﬁm*@gL,_ﬂ g:lsng a quote from a relevant
QA __avlva gk, mMoen, a  moA _on tht OLQPIAD\M

banilve,  broaoh v ot »f  Cor@  facly A& |

afews facdot  pmhon codavlooling TF

Matre, € mdeed a  bradeh.

The £t factor  cp  4he  pectl  aborfpettst

|chacactenet'el o 42 olodnaOnt.  TW e o e This explanation would benefit
( obeesv0d (A __Ponde _y Oteproyy porovdl from greater accuracy. The
Covned  whore, o etoumond b0y al~eady candidate should discuss this

X - - case in the context of the gravity
bne

?Md H agt' he wlcjo Zj:;';m D4 of the potential harm and how this

oy tho defpadont al he gbing influences the court's decision as

hand y work, he accedeatally (-7 w | | regards the breach of duty.
St goed eqk.  Eiven 440 wodva. of

the  wovle and  fhe epeciad charaxctentetice
poete pfed  #y  Ahe  Clouvoad,  Aue dotendans
chovld _have. provaed  eonme  fordw of
prtiction  fuch al 4gog alee. -opeter  Tho
defendtont woe toord 4o ke 1 preach
- e oot for—wrk A prowae o

reQt Oagkle eafety preeontien.

T___ettaulieu  breach of Aoty ob  Coe,

there te_olmy o wadies of vpectal @ © There should be further
ohapr acilwiotlee PWM{O! b1y 1he detadand. explanation and development of
this point.
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Example Candidate Responses — Paper 4

Example Candidate Response — middle, continued Examiner comments

Question  Part -

Aride frowm +hat, pracdicadity  of pre eay +tow
IC__bne of 2 pacrsrt  thad  qhe  Qeuvke
have teken tto  account previevely, ¢ych
e oubmitded v Latemer V. AEC  when
thore 1O a  floed (m a0 e andaate
factony. ey, had made tho ttfory to
cilom Lvpthe eol ongd . put  lLawdw el
On__wei potched;, fowoviy, e olaimOndt,
an_aviployel, QU oopped. ML wed [(EC
lon__ofound  that ” Hdhey  choyld've  oloeed
the faclovry aftwr 4he flocd.  The  Courte
held  that 4l Qe unnece doany

[0 X3 thort ot o0 10(%!4% Precontorene
fakcn by W Qefendaat , thoe, theny
At Wit (8able.

There & alrd e  magwifuode o
PorE,  wheng 20VYEC cepnes der wWhotirer
fuore X o breach of duty  ebferving
fhe itk of elewws  guy  bieach b bappen@)] | @ This point was well explained
TALY ¢ where  the gt tinetien  botdgen and developed with good use of
borton v ¢k avol  the east  gf relevant authority.

Miller V_ amekdon  phiricoye  the YA
bt poquitudls of NCE  and  breach of

vy of__encv. I poiton v (one,  the
cloiwmand Qs WE by a  pwcket bali.

The Cpurr  found quat WO tmEEE . DUV
hod vereen? grocded  whiol & poffreisnt
b provens  accodend€,  qua fise it

praven O Akt Ay {imet o baly

had flong oot mEE N 2y ufoarx.
Woanwhile, fho eske ¥ ey v Dackess
ook hae  eamTlar  fackd pp pokon

1 )
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Example Candidate Responses — Paper 4

Example Candidate Response — middle, continued Examiner comments

Question  Part

howevtr thiC happened more freqoinmdiy;
Qqtat _do_ninl tinatl Q  eeadsh.  Thorebmy
Al wegnlvde st pdle hore 1€ ofher
fhon i poltev, O (duruing  whay

Mgy et acheved o byealh Pyt
Bboltonn ool naot

breadh o dntug of el iy pa0dA
fo ctate of bmwleot% +hre  depord ol
olal, ™ Roe v WIA‘N{%\M of Health,
s Clogmont  had  been @amﬁmw
A0l 4o tho  spindeetant  thoch
woy cooomt WM deptrnd oy oopsiprhl
s et WO uks fhund
Mw wit uable  ad e (afe thitem
Ow)o ke ¢paicd W\Drh Ahe Mﬂbuka eThere should have been more
“Uu’(- critical analysis here and a clear
conclusion. This candidate has
focused on explanation at the
expense of critical analysis. It
is vital that both aspects of the
question, explanation of legal
rules and critical analysis, are
addressed by the candidate.

Total mark awarded =
14 out of 25
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Example Candidate Responses — Paper 4

How the candidate could have improved their answer

.

In this response the candidate has gave a comprehensive explanation of the development of the current test for
duty of care, but this was not required as the question specifically refered to the factors which must be considered
when deciding if there has been a breach of duty. Therefore the candidate could have improved their answer by
focusing on the particular aspect of negligence identified in the question.

The explanation of the standard of care and breach of duty was generally accurate but incomplete. The candidate
correctly identified the standard as that of the reasonable man but this was not developed and there was no
reference to the objective test.

The explanation of the factors could be more detailed and more accurate. The case of Paris v Stepney was used
to illustrate the point that the characteristics of the claimant were relevant but it would have been more accurate to
use this case in the context of the issue of the gravity of any likely damage.

The response could have been improved with a more comprehensive and accurate explanation of the factors
which were considered when deciding if there had been a breach of duty of care, namely the magnitude of risk,
gravity of injury, practicality of precautions and utility of conduct. This explanatory framework was essential in terms
of addressing the critical analysis part of the question.

This response could have been improved significantly if the candidate examined the standard of care and the
factors from a critical perspective. Each factor should be examined and analysed so that conclusions could be
reached by the candidate as to the effectiveness of the rules. In this response the emphasis was very much on
explanation and the critical analysis is implied rather than expressed.

Cambridge International AS & A Level Law 9084 16



Example Candidate Responses — Paper 4

Example Candidate Response — low

Question

Part

Nealigence \ s, the most imperiany

Yort

i eonglish  law. n order kb prove

| neatigence | four elemenks musk be .teken nk

“consideration, namely Duly of Care 'Breach in

Duly oF Cow  Causahion, and , remeleness.
; i i T

To  prove neagligencg, one HRist

hay b’ [eove ' duby of TcawiTThis sk

wag drﬁu():d M Doneghul  v. Skven&on, in

whether not- the dink Compony owed q

or’

ldoby of cae. Ths led b

Fhe Ywo-=s by Fesr

used  in Anng  v. Merkon londen.

[Borsugh Couneil. In Satd coae, (erd Atein

| state{” Hal - two phings have s be

kaken

1tk -accoun Hy » reqyonalkle  Foreseeq Lt"[t”’q and

proximiky . This lakr evelved in (apars

{lnduskies v Dickman, where Fair, jusk, @)

AN - easong bleAesy: are dabery ks @cesuny,

The ‘capars .

gh‘thq.' .

best-/ 1S most Commenly it 4

Breach in duby of care hay b

be proven right after. xgreo_g):\ Lakes inbe  Ccoount

severtd  elements | Wke magnrikude  of risk

and  ubilily of defadants conduct, b aams

a Few. Magnitede: of sk Mmeaswes the

Ikeliness of somebhing  happening - v Ve R

°of 2ollby y. Stene  the vk way kso SMall

ek fove. there wray ne  birach and  He

defords ploinHEPs claim  Fatled. This can be

Goret  Conbrasted  with Miller v. Jockson

where  harmg (cricket ball  going out of play) “nave_

Examiner comments

ﬂ The candidate introduces the
tort of negligence and identifies
the essential elements. This is
sufficient; the candidate should
now focus on the breach of duty.

e An explanation of the
development of the duty of care
was not required here.

e This material relating to the
breach of the duty is relevant.
The candidate correctly identifies
two of the relevant factors i.e.
magnitude of risk and utility of
conduct. The inclusion of material
relating to gravity of injury and
practicality of precautions would
have enhanced the explanation.
The objective test and standard of
the reasonable man should also
have been covered here.

17
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Example Candidate Responses — Paper 4

Example Candidate Response - low, continued

Question

Part

oceurRd koo many Hnies, and the risk  of. i

hagpening  aqain i high- The doFendange wWas in

oreech when H\EA{ deuded hof I puk @ FoAce.,

Vigeer fonce. Uklty of deFendant's Condyck &=

Neasures  thae  purpese. oF whith HWe deRadant+ has

done. e el

Causation looks at how a breach

N duby P care hay oacured. %—-&-oth-ma

In  Horth Glamerqan NS Frusk  v. talkr

The. chain th qumh‘w‘\ hay caused P

Psuchiqh~'c  Mjury hwardy the mother oF

Phe vichm . This Conbeagls wibh Sion's  Cese.

The deckine. oF Nouvins ackyy takerviniens

assures Haab When Yhere (S a bregk in Hhe

chain  of caugeah’on; No kreach will occunr.

RemoRness of damage Wrledee 8 meggyred

I based on the Forife@qu""I’q principle « [P P

| damags 1S tod cemckt, Phen breac—#  thewe

W%U‘f have nob heen duby o F care .

Conclupively . Hegligence plays

la L{q vele ™ \’bt—l——\:\r’, and  fur of H\;&&G—

lelenments hove ko be SakRed M orde~ bo

prove =

Examiner comments

o Reference to relevant case law
would be useful here to illustrate
the explanation.

6 A detailed account of causation
and remoteness was not required.
Identification in the introductory
paragraph was sufficient.

G There is a very basic
conclusion here but it is not
supported by any critical analysis
of the factors required to establish
a breach of duty. The candidate
has not examined the material
from a critical perspective and
therefore this conclusion is not
supported by any reasoned
argument.

Total mark awarded =
8 out of 25
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Example Candidate Responses — Paper 4

How the candidate could have improved their answer

In this response the candidate could have improved their answer by focusing on the requirements of the question.
The question specifically refered to the factors which must have been considered when deciding when there was
a breach of duty. Therefore an explanation and critical analysis of breach of duty and the standard of care should
have been the main focus of the candidates response. A detailed account of the development of the duty of care,
causation and remoteness was not required.

The candidate introduced the concept of breach of duty and outlined two of the factors, magnitude of risk and utility
of conduct. The explanations could have been more developed and the additional factors relating to gravity of the
injury and practicality of precautions should have been explained and illustrated with references to relevant case
law.

The candidate did not address the critical analysis element of the question at all. There needed to be an
examination of the rules from a critical perspective, examining both the merits of the rules and any criticisms. While
the candidate did reach a conclusion, it is not supported by any reasoning or arguments and is a statement rather
than a coherent conclusion.

Common mistakes candidates made in this question

Too much emphasis on explanation and superficial critical analysis.

Detailed explanations of material which was not required by the question, in particular in relation to duty of care,
causation and remoteness.

Incomplete explanation of the relevant factors relating to breach of duty.

Ineffective use of authority — where simply stating the name of the case did not enhance or illustrate the
explanation of the legal rules.

Conclusions which were not supported by a reasoned argument or discussion.
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Question 2

Example Candidate Response - high

Examiner comments

Question

Part

.

+to vse gnd enjoy land, withour [n+erference of others

I1{f the defendqnt ‘}ri-nal'irrqf—d the clgimartt s tnu'/u\t!m&rvf'

of laad aad was held vareasonalble clgimant can brimg

an action gnder tort of puisanmce . q

First and Poremost ,"claimant who sue must hquve

proprietam interest oith the f(anod  which meagns
L ) A o

elgitmant muwst have Some coatrol over -the Iqund or

oons the tgnd, seen in Hunter v Canary Lhart .

s fvc 4+he defendant whi cqri be sueg there aré three ;

cateqories which qre the occupier , the ouner and

the creator of the nvisqnce . Geatrully , an owner

s ho hkas parted «ith the Pr‘r—mise should not bLe

liable unless fhe puner Quthorised,the nvisance , allo ¢ |

the prtmise to Le (eF even +f70vu5,,!—. puher kanew

that the nuisance LAS 4lrtady exizted and i ouner

still _has the obligation to (:eelp ‘p:—cmin, e repairs

il held liable (seen in kringe v Ghen ohere

Lner . .,
% : [iable for the nuisance gs he §< v—;—mﬂg:&d

dbliged to keep premise tm govd —epsbry yed Farjed
i y == 1 <t
Yo do so0 hence give rise to fiability . (-

3

Besides that occupieér of the premise should be

lidble for nuisance cqused by their emplojees or

leven indeperident contractors  seen _in +the case
Pt i

of- atania v nationgl Provineral Banlk . s Afir

dhe creator if Yhe nyirance will al"wa-gs be 1lable

fore the nuisance created, seen in _thomas v

.national vnien o mine norkers wheé e stk

mihers picketing 0n the vad outcfde a v,”ﬁcfom
T = -~

armovnted 4o nuyisance

o This is a clear and concise
introduction to the tort of private
nuisance.

e This is an accurate account
of the essential elements of the
tort, supported with reference to
relevant case law.
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Example Candidate Responses — Paper 4

Example Candidate Response - high, continued Examiner comments

Question  Part

2 i To bring an action under tvrty of muisance
ltbert must be indiréet lnterference with land |
|the intefsrence myst be ynreatonalble and Mur-,f- hgv

cqysed damage . Tndircct interferuie cian b e cqupe
J

elther ?hjshcqtlﬂg o in+qng.‘bl‘c infrusion. For
exqmp (e ;in  Jhowmgs=v- Tomplinson— Costaki v
| Sehuab , the 'f«Amdi'rus o~ Ipr‘o;#ii-u*l-»c: in fron+
of clgimant's house ol qmount fo nyjiqnee

1o bavey v Harrpw Corpocifon , the nclghbour’:
tree rpots which cxtended to clgiman+t's (qnd

sould be sufftee to amoutgt fo nuisqgpce de  ell
Rs Aovimtqngible intruecion , in Chistie v bavey

4 noise would emount to privgte nuifqnce foeo
However it has t0 note +hat rtereqgtrong!l Ffacilibic
Jis tevfE  considered as Sthings of—deligu+ 7 and
hence will not render as ndisanée . sczn in Hunfen

[v_Canary wharf | e " : e This is a clear and relevant
N ' ‘ explanation with effective use of
relevant authority.

hpact Prust indireet (nmterfecence  the Interferng
muct be unregqsongble jp order to bring 4 olaim
lvlm-d‘bl- lp.t—ﬂ"vuf-?, fuisgn:ece . In Soyth uar; Londor
Borvugh Council v mills , j+ w4s sqid Hhat the
clgimqnt qcecepted the pm-exr:h‘ng condition «74 £h
house cith Co‘ptn eyec? hence the ngise resulted
1o on, heighloour due +o thin tqlls wac held
reasooable qs it nds pre-exicted even befyie thy
IP\H‘okn_rt b Ae a resqlt , there {5 no Il'q'al'lf‘}'j
Lo peieqnt fulsqnee as the defendant's ube of

Jand s rtasonab le

aAn order 40 determine Srasonablencses ?

gevergl eleiments thou(d be copnsidered which
ar=< ‘;enrfvﬁvﬁrg:, locality ‘dfurq+i°n and rmeafite .
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Example Candidate Response - high, continued Examiner comments

Question  Part

2 | in P Mceckinnon  Industries w L:alkcr,‘l‘he def~nd qnt
held urchids'\?go sensitive +o be -grvwn qnd heoce
| claitant choutld not be altloced to olainy . Hoeeven
defleindants has (nfringed claimant's P.n\;[o\ll,{ A—Lu\'f'

. w?— larcd - hence can _clgin _fr hic censtite
activities . As tor locot.l-.i.tu Ik waqs ceen o

‘&"'ur"ﬁl‘&ﬁ v B(.—.‘.dj,man phtre a quicance in quiet
|restdentiaql ared iUl pot be-a Nuwsapte §pg 40
indvedrial grea and hence courts «ill have +o consider]
#o he (ocality of the place o render the intefeen
{uhether to be raconable or nef. Q eGood explanation of factors
considered by the court when

s for the Prctor of duration  cven e 20 minufed | 9€CIING whether the use of land
was reasonable. There is some

frepnebe would ampuny fo ulcdnce  seen in consideration of the significance
cofSbee Crown River Cruicec v Kimboltor Firewsthl.| of reasonable use here which can
In De Kepser Royal Hotef v Spicer bros ttd_, be credited as evaluation.

pile - driwing for buildirg purpose at night
could held o be unreasgonable as ocli. Rs 4o mafice
in Christie v Pavej defendant who de,liloemfuj

i tens ¥ claimant's mucic clace by creating

hoise cuch qgs anMen'ng on the vall ~ould
N as .
a mount to privafe nuicqnet too=ke it is unreaconbl

e There is clear explanation
of the relevant rules. There

is also some assessment of
Last b ot lea j r~fe, mu . .
t buy notleast  the jnterference mustaleo | iheimoortance of the issue of

ave cauced damage to render the' puisance reasonable use but this could be
pnreasonal (e . Zn Sf. Helen smelting Cov Tipping | better developed.

it _cas held That claimants have to d/rh‘nﬁw;:/,.
between 'pC('Sﬁhaf d,‘:com.lpfa,—{- and gctwal daﬂ«a:/;(’
1o {and as it could vnly be Fecassnalble ,";L‘

hich
there /s actual damaze Fo Ipr*ofﬁr"/‘j L%FIFP' amoun} |

Fo _deg_so

o ¢ real dam-:.l</ and give rise o [fability tn
private guisanmce . 2% is note that defendant can
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Example Candidate Response - high, continued Examiner comments

Question  Part

2 | reice a defrence of prescription dnd statutory authedty
ceen {n cgse of Allen v Gulf 0i1 pefnery to Temove
~J
or reduce its ,liabi'{niw _Pamages o= will normally

K Mabsion
be acqrded as remedy (seten in Delqugre Petsfons v
Y

Minister of pensiens ahd if dqnuger is got suitel e

to be acarded ; injunction cill be granted at diccrefrop
"?‘P courts .

Zn conclusion , & therc muUst be indircet infersferenc

40 lgnd and the interference must be Unreartonabie

ih order *to give Fye to llabitrty in prvate nuisenal.
Y - 1

24 the fnterference s reasopable , no torts of e_ GSupported by a reasoned

1 huisagee uill be copim| Te“d and hepce 1+ /P‘[a\‘t;’: q argument. There is not enough
pivotal rolc in deferminiig rhe Jiaki{itg oL analysis of the rules to fully justify
; v EA this conclusion.
defendants . ; . g

Total mark awarded =
18 out of 25
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How the candidate could have improved their answer

* In this response the candidate set out the legal basis of the tort in the opening paragraph and then explained the
essential elements of the tort — an interference with a person’s enjoyment of their property which was indirect,
unreasonable and results in damage. This explanation was accurate and detailed and supported with reference to
relevant case law.

» The candidate could have improved their answer by addressing the evaluative part of the question more effectively.
The candidate concluded that the issue of reasonableness was crucial to determining liability in private nuisance
but this conclusion was not supported by a developed discussion based on the legal rules. The candidate should
have linked this conclusion to the explanation of the factors considered by the court and identified specific points
which support the conclusion; for example the issue of malice could have been highlighted as evidence of the
importance of reasonableness in private nuisance.

» In this response the candidate had focused on explanation but there was an imbalance in the response as the
evaluation element was superficial and while the conclusion was accurate it was not supported by a reasoned
argument.
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Example Candidate Response — middle Examiner comments

Question  Part

Privare nwisan@ 15 muL in(liY‘ch' vitow fA stV ok PavIon's gafoartant’
v

8¢ ugl oF ML tandd . \n controsy wimn Mespass 1o tand\, W pygrecrs aqaiaty

ML LT INTLY FVVUAGL YOIV TGN Qinler Itevfentines . The dxcepion 1
OUTSANEE 10 1VEAL 0N (LLALAONE) acrVITes SWCW oy T \aumd{me wt& l a Good introduction which
identifies the key characteristics of
the tort of private nuisance.

WLE 68120 MA AEVELALN LS S WTANIGANIE W SWULINS o SOUNGA- BV

Lranple |, W Cwiele v \)w% | ™ dafendant ag Meging. 0. mucia
{ 4 §

nOISL D o\uwum Rl caainan T MoTie caads -

TV pevsgn wWino  com uR undllr pRvOTL MWISGMEE S MWL pevson who
\

OWNE WL tandl OV vatweN ML 0evion  Wg g (VOQRWRK) Wesed: reve |
t L U

(0 M and - TS &6 becasse privace nelonee is 1and bosed Waias:

{ ML océuplevs o Me tand cawnnoes sue undey  gvivare nuviSancy

@3 geen t Malone v laskey whewe WL gpovse % e \atd oumer

155 not altew ro claim pUivar? nvisan ce a4 swe ‘nag WO, ingevest W e

lond -

.

Cndldien als o canwor sue T pAVare nuSamer o Mgy anL not
¥ 4

EVEINIGIN

‘lccjm\w able 8 cwn lanel- \w tflynrev Vv Canavy Wriavy |

akvowleda, ot caldnLry @annret Wl OV ol 9ndlv  pivGie
1 v
nuianer .

OWL 0f e people thar con be sueR vndew PWVATE NUune TS

e crvaTor o€ ful ALISAN- Ty oto nef rneecl O O9n e tancl ov
¢

have prapviery aTeALsr- Wi s Swown T Wowes v Nongnal Unton
} &

of WMiINRWovicgvy Whcnl dhe Coovis Waich MAT g waineys pickering,
—q

wene hele accoonTQiolg fov SNRQTING Huifaney .

fAnoMmLyv qrovg ef (:eoplz Mo conn B e - cugad i, M occu(:\'fev. Howevev

A oL e excepnond O Nl Ganiivy . Bt of e exeepaonge 1t

ot g wigance 'S & vwisulw of Mg acr Of hatvng - Twe wulsanel TS

covsed by an ndepede@nt comeYoetov . Howevev (€ g fovfélqpie mey

L Mepeneltnt Comvatser WAl CALOTL  NOIKANR Mwen Twe occopiev e This is a very detailed

' ' discussion about the potential
parties to the case. It is not linked
to the question so therefore is not
entirely relevant.
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Example Candidate Response — middle, continued Examiner comments

Question  Part

s MalZ  of  Sean W NRrGnia V Nofonal  Prowincion: badk -

Losly | landowasvS as 6 gemcval YME iS5 ner tiawie (ov pyvan

UGN, ~hRSS becouse ™y Wove povied VA MMriv possession - |

Thend GeL {(NETQRWCE s WMLwL ey ewe  liaule-
o

Ty con ke Gl wuewt Mg uisan e oanzooy. 2xisied wagy
v = A

LRAONL ™ML propevIy  Uwvay VNT OLY -

[ furmevmone  magd con tople  WMBRN LY vave resevie ML want
= A

4o f g hdisance. FOv gxampPie Tn Cepe Wvinge v Coman  twe couvis

wld ma defendant ligvie  daspie g degect way biknown Yo tag deendaft- |

. Howeuey ™ Lm“j v Niwonat VEY Dy dRRECk B tnown bur wot Exed \oule
| Al WALy - ) e More detail regarding the

' i { parties to the case which does
not address the specific question
which has been asked and
therefore will merit limited credit.

\lusm\,, Londownave anc table WAL W\yewmov\‘sc Mg WUSAWVEL. L

MYV CWRFY L G ownly  wvas Wabie  as #nt el M auvmoviseol
3

i . leasihd o0& a g0 kaviCcwb-
i v

TALAL LWWAMLAYS Aay MU be Sorisiieed in ovduy 4o croam unelear

pYNVArZ nuitaner.
v

Oni 08 WA Rlewat s Wwae tndivrger MTevfenence. Ay muntiovwed gveviouly]
]

MAVeLt vrevfeneney cen Vg Aong W\chtK\A VOVIOUS  wayy Sucw ag

SwAl o seundl s Twis (g g hown SegA\e\'K\/\ N °'Co\\\ua‘/v\¢~v\.

BROfLY R Pt (S Yiesonabie £oss , was e o.ch'\rl"l\,-\/ SAowne \m.) twe

drfendant casonavie 7 {5 wnor JMLr g CoovrS Wl Clessify. ag

PYNVATL avisaner LV INS VRN Y WAt RuerovE TO be  Conel daviest

Sucw ag Se\ng\’\'\'\lrré R \utoxiw\ , duvanon o wWheieg - ) 0 | o The Candidate addresses the
question here by introducing the
issue of reasonableness and
identifying the factors which will
be relevant to the determination of
liability for nuisance.

Twe SensifVity resr 15 cvbfeerive . A\ ROWMSIN V WWew | fwe couas |

)
Ve{use o wowd e oAetendlant labie becavse was ovev Sens{iave- But |
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Example Candidate Response — middle, continued

Examiner comments

Question

Part

W Wetiwnon MWBdutMLY V walker | L COUYYS Wd S tvat g
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Shet & qun 4’““‘""?( L ey cansing a M%\— 10 T foxes bved by
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I CONCWSTON | TalL  STATk Ment T8 vaird 4o on excenr- \§ ™e derendony’s -
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4

COUVES wiW congldly otwmev factovs o Wi Tt scope of (fabilify-.
N v

e This explanation of sensitivity is
brief and both the explanation and
the use of a relevant case could
be expanded and developed to
better support the explanation of
the legal rule.

6 The explanation and use of
case law in relation to locality
and duration could be better
developed.

0 This explanation of the rule
relating to malice is clear and the
case is used more effectively to
support the explanation.

e Having explained some of the
relevant rules the candidate forms
a conclusion but this is not based
on any reasoned argument. There
is no discussion, evaluation or
critical analysis of the legal rules
which are applied to determine
whether the defendant’s use of
land is reasonable. Therefore the
conclusion is not convincing.

Total mark awarded =
13 out of 25
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How the candidate could have improved their answer

* In this response, the candidate introduced the tort of private nuisance with a clear outline of its key characteristics.
The candidate then examined the issue of who can sue and who can be sued in some detail. This part of the
response could have been improved if the candidate had linked this discussion to the question more effectively.
For example it could be argued that identifying the parties is a key issue in determining liability in nuisance and
therefore the issue of whether the use of land is reasonable is only one of a number of key issues which must be
examined by the courts.

» The candidate outlined the factors which were relevant to the issue of reasonable use of land. This explanation
was lacking in detail and not fully developed. There was reference to relevant case law but this would have been
more effective if the candidate had highlighted some of the key facts of the cases in order to better support the
explanation of the legal rules.

* There was no evaluation or critical assessment. In the conclusion, the candidate asserts that the statement used
in the question was valid but there was no discussion or analysis to support this conclusion. The candidate could
have referred back to the explanation of issues such as locality, duration and malice and utilised this material
to support an argument that the defendant’s use of land was the key issue in determining liability. Without this
reasoning the conclusion was not convincing.
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Example Candidate Response —

Question

Part

Example Candidate Responses — Paper 4

low

2L

N A sance Strts—Ee N w“xt__\% ot Terk

coacts Nov Yoo enxawb«»\m\~4s\L_vk_oX:_\Mb\ L

QAL %w Sam.

® sl !\ASnM.g_:s_mAgg\__-\A&__zvisr_‘amk*_
A Sridpngsime e i 0§ \sed_ & a ArSow T

Mnkuvbed Qo W elhar n&gﬁl&.ﬁs_a.(«_\‘\r‘\:\r e

—“‘”" R ) Mu_hw_?:__whxxu_f_m\:hk‘___

s \\\o\sm\ whvwuiton and 0 N ratgamet . Phoatoal |

5 t\\\w sw« s SAar esme \.\,——uv\l\>u\.__ Claod i !s_e_

&5 \s‘vsl\. é\.“\—uf\& M oo ot Ws  Louse as

Plood_vedars \ss \oore o \ﬂ\__vx\\:\ woASamee vy |

whte P ng_rs_ R __\’z:_a__\bi. ..J;S,__

_seat\inn,
Q

N defendoats  ese of \uad sy Ne reasonatie

D uncensres B\ %_\ot._m_(«t%_ ﬁ&&iru\\“—__
\WS\\\E_\LVM_M_R_\:;

B debodands e of \and ek e

\ W_M_&»L;&ts_wk_(mqs;_%_&m r.\s...a&g

M\ o ot e @ i vl J\Mm\'_\'ﬂ_u_ ’

Pt é\g}.&k&@&\\_gw bS\-fv‘oM \As__\l:*_w___c\?_(_t\ﬂ_

daovnk Mo sdganct.

N e Cannet  gae el ks

Aabandeay \jablr 3¢ Wi dalees commse_moe—is

eaﬁ:@-v&ee_gm_\s Y&M_\“_\:_L_Mm T
Jbuxi—i‘c A, \:ar Q&N\‘a\gf 0__cladwmank Cannnl St

0\ Qq dt"';b 2‘ v petSina cavitd B he cnnaly b frem

S /NI O T SR I S IV TR o ngg_e:-wkn\:) 4

Lactoes Mt‘)\ .
J

Examiner comments

0 This introduction does not
fully explain the purpose or main
characteristics of the tort of private
nuisance.

@ This point is valid
and demonstrates some
understanding of the tort of private
nuisance.

e The candidate demonstrates
some understanding here of the
different types of private nuisance.

e The candidate identifies that
unlawfulness is a key issue —
this implies an awareness of
reasonableness. The example is
not developed.

e The candidate identifies one of
the relevant factors here — locality
— but the explanation needs to be
better developed and there should
be a reference to a relevant case.

Total mark awarded =
7 out of 25
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How the candidate could have improved their answer

» The candidate introduced the tort of private nuisance by identifying some of the key characteristics of the tort. The
candidate then demonstrated some understanding of private nuisance through the use of examples of different
types of nuisance such as physical intrusion and intangible interference.

» The candidate could have improved their answer by presenting a more complete account of the essential elements
of the tort of private nuisance, illustrated with references to relevant case law.

» The candidate identifies the relevance of locality to the issue of reasonableness but the explanation is brief and the
example used is not developed.

* The candidate could have improved this part of the answer by discussing the range of factors which are considered
in relation to reasonableness: duration, sensitivity and malice. Each of these should have been explained and
reference to relevant case law should have been utilised to support the explanation.

* The issue of whether the statement is valid was not addressed and therefore no conclusion was reached. The
candidate should have commented on the issue raised in the question and linked their explanation of the legal
rules to a clear conclusion.

Common mistakes candidates made in this question

» Focus on explanation of the elements of private nuisance but without the critical analysis or evaluation needed to
address the issue raised in the question.

» Detailed accounts of elements of private nuisance which were not relevant to the issue of reasonable use of land.

» Evaluation of an issue other than the one raised in the specific question, for example detailed discussion of
whether private nuisance is the ‘law of give and take’. This was not the question asked.
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Example Candidate Responses — Paper 4

Question 4

Question  Part

Example Candidate Response - high Examiner comments
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0 The candidate identifies the

9 The candidate correctly states

e This point needs further

relevant tort and sets out the
essential elements.

that a duty of care applies here as
there is an employer—employee
relationship. Therefore a detailed
account of the legal rules relating
to duty of care is not required.

development. There should be

an explanation of the legal rules
relating to standard of care and
breach of duty and the rules
should be applied to the facts. Did
ABC discharge their duty through
the provision of safety equipment?
Is there a breach as they were
aware that the employees were
not wearing the equipment and
did not take any action to remedy
this situation?
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Example Candidate Response - high, continued Examiner comments
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Examiner comments

Example Candidate Response - high, continued
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Example Candidate Responses — Paper 4

Example Candidate Response - high, continued Examiner comments

Question  Part
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Total mark awarded =
17 out of 25
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Example Candidate Responses — Paper 4

How the candidate could have improved their answer

.

In this response, the candidate correctly identified the relevant tort as negligence. In the introduction, the candidate
identified the essential elements of the tort and highlighted the elements which were relevant in this question.

In relation to the first part of the question, concerning the potential liability of ABC Engineering to Mark, the
candidate commented briefly on the duty of care on the basis that a duty applied, given that it concerned an
employer and employee relationship. This was an appropriate treatment of the duty of care issue.

The candidate could have improved their responses by discussing the issue of breach of duty in more detail. The
issue of breach was discussed in conjunction with causation and remoteness. There should have been more
development of this issue as it was a key issue in the scenario. The candidate should have commented on whether
the employer has exercise reasonable care through the provision of safety equipment and the relevance of the
employer’s knowledge that the employees were not using the equipment.

In relation to the liability of the doctor the candidate correctly identified that a duty of care applied. The candidate
should have provided a more detailed explanation and application of the issue of breach of duty in the context
of a newly qualified doctor. The candidate’s explanation of causation and remoteness was more developed and
the application generally accurate. The candidate also correctly identified a potential defence of contributory
negligence but the explanation of the relevant rules could have been more developed. The candidate could have
improved their answer by including a discussion of vicarious liability in the context of the liability of ABC and the
hospital for the actions of their employees.
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Example Candidate Response — middle Examiner comments
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0 The candidate identifies the
appropriate tort and sets out the
essential elements.

e The candidate deals with the
duty of care in an appropriate
manner. Given that this is an
employer—employee relationship,
a duty of care will apply.

e The application of the case
to the facts is not effective as
the facts are not similar and the
candidate does not demonstrate
the relevance of the case to the
facts of this scenario.

e The use of Paris v Stepney is
not convincing here. This issue
of the gravity of potential harm
needs to be explained and then
linked more effectively to the facts
of the scenario.
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Examiner comments

Example Candidate Response — middle, continued
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e The candidate identifies an
appropriate defence but this
is not developed. The relevant
legal rules need to be explained
and then applied to the facts of
the scenario, with reference to
relevant case law to support the
application.

e The candidate correctly
identifies that a duty of care is
present and therefore a detailed
discussion of this issue is not
required.
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' issue of breach of duty in relation
to a professional but this needs
more development. The extent
of the duty should be clearly
explained and then applied to
the facts of the scenario. The
explanation here is brief and
incomplete.
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Example Candidate Response — middle, continued

Question  Part
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Example Candidate Responses — Paper 4

How the candidate could have improved their answer

In this response the candidate correctly identified the relevant tort as negligence and set out the essential elements
in the introduction.

In relation to Mark and ABC Engineering the candidate stated that a duty of care would apply as the relationship
was one of employer and employee. This was appropriate and a detailed account of duty of care was not required
here.

The candidate could have improved their response by presenting a more detailed and accurate account of breach
of duty. The candidate stated that the duty of care was breached but without an explanation of the applicable
standard of care. The candidate made reference to the case Paris v Stepney here but the use of the case was not
effective as the issues in the scenario are not sufficiently similar to the facts of Paris.

The candidate did identify the potential defence of contributory negligence but the explanation and application here
could have been more developed.

In relation to the potential liability of the doctor, the candidate correctly identified that a duty of care would be found
and therefore a detailed explanation was not required.

The candidate identified the relevance of breach of duty but this could have been more developed, particularly

in the context of a newly qualified medical professional. There was a reference to the case of Bolitho but the
explanation and application were inaccurate.

The candidate could also have improved their answer by including some discussion in relation to vicarious liability.
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Example Candidate Response —
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Examiner comments

° The relevant tort should be
identified here before discussing
the facts of the scenario.

e The candidate demonstrates an
awareness that the relevant tort
is negligence but the application
of the Caparo test is unnecessary
given the facts of the scenario.
An employer will owe a duty of
care to an employee as this is well
established in previous cases.

e The candidate identifies and
analyses the some relevant facts
but does not explain the relevant
legal rules. The standard of care is
not well explained and there is no
reference to relevant case law.
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Example Candidate Response — low, continued Examiner comments
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involving the medical treatment
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the hospital.

Total mark awarded =
8 out of 25
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How the candidate could have improved their answer

In this response the candidate focused on a discussion of the facts. The candidate could have improved their
answer by providing an explanation of the relevant legal rules, supported with reference to relevant case law.

The candidate did not identify negligence as the relevant tort but did discuss relevant elements of the tort of
negligence thereby demonstrating some understanding of the relevant issues.

In relation to the potential claim against ABC Engineering, the candidate identified the requirement that the
defendant owed a duty of care to the claimant. The candidate applied the three parts of the Caparo test to the facts
but this was not necessary given that the duty of care is well established in the context of an employer—-employee
relationship.

In relation to the breach of duty the candidate discussed relevant elements of the facts in relation to the potential
liability of ABC Engineering. The candidate could have improved their answer by explaining the legal rules
governing the breach of duty, using relevant case law to support the explanation. The candidate could also have
included some discussion of the defence of contributory negligence here.

The candidate could have further improved their answer by addressing the second part of the scenario, involving
the treatment received by Mark when he attends the hospital, in particular the standard of care expected of a newly
qualified doctor and the issue of vicarious liability.

Common mistakes candidates made in this question

.

Focusing on a discussion of the facts without providing an explanation of the relevant legal rules.
Detailed explanation of the legal rules but limited application to the facts.

Detailed discussion of elements which were not directly relevant to the facts of the scenario, in particular the issue
of duty of care.

Not explaining the applicable standard of care expected of an employer and a junior doctor.
Not dealing with potential defences such as contributory negligence.
Not addressing the issue of vicarious liability.
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